B o hh S5 ERENF (FE2hR)

IEFR
201945 7 A

1E

BIE26 DREEELEL x 9,

PlE26 DOEEELEL £ 9,

O) (1.24)

(D (1. 24)

24N,=0 N, =2kN

2-N_,=0 N, =2kN

B

H, 5-cos60°=0 H, +15-cos60° =0
1085 191TH M,+9-4=0 M, =36kN-m M,+9-4=0 M,=-36kN-m
120H 1-4+8-6-Q,=0 1-4+8-6-Q =0
_ Q =1-4+8-6=-3kN Q =-1-4+8-6=-3kN
23~241TH : *

1298 147H

wic, M11.2(g) X v .

wiz, M1.23G) XY,

135 60+ H, =0 V., = 20kN(T) 60+ H, = H , = 60kN(<)
_ 60-2-V,-6=0  H, =60kN 60-2-V,-6=0 Vv, =20kN(T
22~231T H » a () f ; ™
13682 31TH 3 3 3 3
60+N3c_gNAB+gNBE= 60+N3c_gNBA+gNBE=
136 51TH 4 4 4
7§NAB7 Ny =0 7ENBA75NBE70
136 H 1017 H 3 3
NBC 5th+5Ncp _NCB_ENCE"'gNCD:
136 2 1417
1T H _gNCD—NDE=0 —%NDC-NDfo
136 1517
fTH %NC,)+20:0 %NDC+20:O
1408 121TH AR LT HEIEY) 7 N ERE IS & FEOR AR LT IEY) % N2 RS & FEOR
142
R ND . wm o ﬁg L Jwm
> M
X13.5(b) sLen | [ Jom bLen = [ Jew
N N
iv, - NTQ 74] M - L k‘—fQ AMM
—_ | |

148 14. 10

e
q g ma

EIINUES




EIE & FT

163 [x]16.9

176 8 BN o, - 40N Y jggtlj\f/ % —40N/cm?
-0N=—60N/cmz §| Oty A IN= cmy ]Iak Bk
\ —On+0x A 3 BER =JoNjam? I+ "
%116. 30 (d ~-Bonvem PRI T o N0, : i
8 @ wm m \ i-0, = ~40N/cm? Hed 3\1031\11/[/cm2 = 40N/em?
I Cl K
EIEE .
176 5 —Op+0y g =90N/ein?
ET ’”N‘"m’ng'ﬁmwm ﬂeo;l/o 2 R e =20
- B = CIm- =
16 20 (f) Al ‘w S p B B AU 30N/cré1 ;~|911§ B i
: i ==T201/ e I -g, -—QOI\TA::n'n2 I Oy -0y *mm + H
g i =-120N, /cmZ [ 1 -0,=-90N/ cm?
s ) BT gy I
206 T bA|RHEOBEERET S FHEOBRIIRET 5

17 H~H F47

T DR EHERETE 2 T H B,

bR OEAEHHETE X T B,

216 EM=0 ['y . xdx-V,L=0 2My=0 [Pu xdx—V,L=0
0o @ B 0 @ B
#(19. 39- [ (e - " (—x
I ( C) ) 2EI(_x +Lx).xdx+VBL_0 —OE(—xZ+Lx)~xdx—VBL:0
218H 81TH 19. 13(DITRT L D172 D, 19. 13 ITRFT X 91272 %,
218E 17417 H [€119. 13 (e) DAKIZIIT 5 -+ 119. 13 (d) DAFIZI T D




